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INSTRUCTIONS:

l. The time allowed for this paper is THREE (3) hours.
2. The Questions are set out in TWO (2) Sections, A and B,
3. Read very carefully the additional instructions preceding cach section.



SECTION A (20 MARKS)
SHORT ANSWER QUESTIONS (SAQs)
INSTRUCTIONS: Answer all the questions in this section in the Answer Booklet provided
SAQI. Explain the stage of the demographic tmnsition that has the highest population g{rzawmmu?;
; m

SAQZ. Kenya is in a fertility transition implying an aging pogulation. Explain the implication of
compressing morbidity and mortality versus no compression of morbidity and mortality,

(2 marics)
SA03. Use the table below to calemlate the Total Feriility Rate
| Age proup of women | Number of women Musmnber of live births | Age-specific birth rtes |
15-19 vears 1,237,721 117,583
20-24 78,136 268,957
25-29 979,623 283,111
30-34 89,603 254,351
35-39 Rl4.243 162,034
40-44 548,852 57,633
4540 i, Sed) 22 766
TOTAL 3,954,838 1. 166,465
TFR= (2 marks)

SAQZ. Describe the effect on Kenyn's population of
i. Epidemiclogical palarizstion (2 marks)
i Demographic bonus {2 marks)
BAQ3. Explain the FOUR (4) mast impontant proximate deferminants of fertility warlation in most
countries.
{4 marks)

SAQM. List TWO (2) administrative and TWO (2) medical uses of vital registration records in Kenya,
(4 miarks)

S5A0S, The rate of pataral increase of a population over n specific tme period can be expressed as a

percentage. If the crude birth mte is 50 per 1000 and the crude death rate is 20 per 1000, calculate the
raie of natural incresse. (1 mark)

S5ADE. Define the significance of perinatal mortality rate. {1 mark)



SECTION B (40 marks)

INSTRUCTIONS: Sslect ANY FOUR (4) questions and answer in the Answer Booklet
provided

LAQL. Discuss the s[g.nlﬁcar}m of the infant mortality measure as an indicator of
sociocconomic development of a county. Use Siaya as your reference county,
(10 marks)

LAQL Family planning saves lives. Discuss this staternent in view of the development of
Homa Bay County and sugpest strategies you will employ fo morease contracepdive use in
this county.

(10 marks)
LAQ3. Using a diagram, DISCUSS the Health Transition (10 marks)

LAQY. Diiscuss amy FIVE (5) confinuing and emerging challenges that need to be addressed
fior Kenya to achieve its national goals as articulated in the Vision 2000, (10 marks)

LAQS, Discuss FOUR (4) distinctive features of urbanization in sub-Saharan countries and
the public health challenges of urbanisation in Kenya (10 marks)
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